SMS5AE 9A 1L HBE (o Ad : ARAFSEN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2,488 2 2,801 —4 2, 844 -3 5, 645 -7
JHPTET—TH 1,033 1 936 -1 843 4 1,779 3
3R — T H 599 3 564 2 573 1 1,137 3
AP =T H 661 -3 714 -5 663 -1 1, 382 -6
JHPTETIU T H 494 -3 509 -3 536 -1 1,045 —4
PRI T H 334 5 358 2 334 5 692 7
JHPTHT 7S T H 297 3 363 3 389 5 752 8
oY 206 2 197 -1 215 2 412 1

BA 380 -1 446 0 465 -2 911 )

T H 1,946 16 2,015 6 2,073 12 4,088 18
AT 350 2 341 0 340 3 681 3

R H 930 5 988 4 972 3 1, 960 7
T — T H 281 1 354 -1 394 2 748 1
R — T H 353 2 438 -1 445 4 883 3
HHT =T H 503 -5 684 -2 649 -6 1, 333 -8
FHTIU T H 296 10 403 6 392 8 795 14
T H 235 -1 259 -1 253 1 512 0

W] = 306 0 363 0 342 -1 705 -1

=YK 438 1 450 0 456 3 906 3

= AH— T H 0 0 0 0 0 0 0 0
VAR TH 31 0 44 0 42 0 86 0
L 112 -1 130 -1 120 -1 250 9

— Y ARHH 5 0 5 0 5 0 10 0
KH» 4B 692 1 869 5 873 0 1,742 5
[FEN 4,572 20 4, 892 28 5, 088 13 9, 980 41

IR 4,816 -10 4, 605 1 4, 695 -10 9, 300 -9
W 1,412 4 1,503 -8 1,557 1 3, 060 -7
=1+ H 6 0 10 0 7 0 17 0
H5+tH—TH 940 1 807 1 965 -1 1,772 0
SR TH 1,152 -2 1,114 -6 1,184 -6 2, 298 -12
BELR=TH 870 -1 794 0 863 -3 1, 657 -3
LRI T H 730 2 718 0 730 2 1, 448 2
BELRATH 734 -2 777 -5 686 2 1, 463 -3
RN TH 0 0 0 0 0 0 0 0
e 4 T 1,993 7 1,976 8 1,863 5 3, 839 13

s E—T1 H 305 8 305 4 308 4 613 8
oy T B 243 0 254 -1 248 1 502 0
oy b ="TH 435 -1 435 -2 453 -2 888 —4
o DU B 774 0 716 2 817 -4 1,533 -2
o T H 459 -1 494 -1 523 0 1,017 -1
I —T1H 257 0 301 1 334 -1 635 0
FElT T H 536 1 581 0 646 ) 1,227 )
FAHT =T H 187 -3 184 -5 230 -2 414 -7
s 33, 441 63 34, 697 25 35, 420 35 70, 117 60




